



Name: _____

Datum: _____ Ergebnis: _____

$$10^{(-2)} - (-4) =$$

$$4^{(-1)} + 7 =$$

$$(-6)^2 - (-6) =$$

$$(-3)^2 + (-1) =$$

$$8^{(-1)} - 2 =$$

$$1^{(-2)} + 1 =$$

$$(-2)^2 - 4 =$$

$$8^{(-2)} + (-2) =$$

$$(-4) + (-2) =$$

$$9^{(-1)} + 3 =$$

$$9^0 - 1 =$$

$$(-9)^{(-1)} - 1 =$$

$$(-6)^2 - 4 =$$

$$(-2)^{(-2)} - 10 =$$

$$1^0 + (-9) =$$

$$3^{(-1)} - 7 =$$

$$(-8)^{(-1)} + 8 =$$

$$2^0 + (-5) =$$

$$(-3)^2 - 5 =$$

$$9^{(-1)} - 3 =$$



Name: _____

Datum: _____ Ergebnis: _____

$$10^{(-2)} - (-4) = \frac{401}{100} = 4\frac{1}{100}$$

$$4^{(-1)} + 7 = \frac{29}{4} = 7\frac{1}{4}$$

$$(-6)^2 - (-6) = 42$$

$$(-3)^2 + (-1) = 8$$

$$8^{(-1)} - 2 = \left(-\frac{15}{8}\right) = \left(-1\frac{7}{8}\right)$$

$$1^{(-2)} + 1 = 2$$

$$(-2)^2 - 4 = 0$$

$$8^{(-2)} + (-2) = \left(-\frac{127}{64}\right) = \left(-1\frac{63}{64}\right)$$

$$(-4) + (-2) = (-6)$$

$$9^{(-1)} + 3 = \frac{28}{9} = 3\frac{1}{9}$$

$$9^0 - 1 = 0$$

$$(-9)^{(-1)} - 1 = \left(-\frac{10}{9}\right) = \left(-1\frac{1}{9}\right)$$

$$(-6)^2 - 4 = 32$$

$$(-2)^{(-2)} - 10 = \left(-\frac{39}{4}\right) = \left(-9\frac{3}{4}\right)$$

$$1^0 + (-9) = (-8)$$

$$3^{(-1)} - 7 = \left(-\frac{20}{3}\right) = \left(-6\frac{2}{3}\right)$$

$$(-8)^{(-1)} + 8 = \frac{63}{8} = 7\frac{7}{8}$$

$$2^0 + (-5) = (-4)$$

$$(-3)^2 - 5 = 4$$

$$9^{(-1)} - 3 = \left(-\frac{26}{9}\right) = \left(-2\frac{8}{9}\right)$$